CamocrosiTebHasi padora 3.2
IIpocTeiimmne TpUroHOMeTpHYECKHE YPABHEHHS U HEPABEHCTBA

BapuanTt 1
Al. Peminte ypaBHeHUeE:
a) 2sinx=1, 6)cosx=—72; e)sinng; 2) \/gtgle.
A2. Pemute ypaBHeHuUe:
a) sin%z?; 6)cos(x—%)=5.
A3. Pemmite HepaBeHCTBO: SN X 2 -

B1. Pemurte ypaBHeHHe: COS xsin2x+sinxcos2x =1.

CamocTrosiTesibHasi pabora 3.2
IIpocTeiimmne TpUroHOMeTpHYECKHEe YPABHEHHS U HEPABEHCTBA

Bapunant 2
Al. Peminte ypaBHeHue:
3 4
a 23inx=x/§; 0)cosx=—:; 8)COSX=—; 2) ctgx =—.
) ) 5 ) 5 ) ctg NE
A2. Peminte ypaBHeHUeE:
a) c:oszz 1 ; 0)sin x+£ =l.
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A3. Pemite HepaBeHCTBO:  COSX < S0

B1. Pemute ypaBHeHue: cos4xsinSx—cosSxsin4dx =1.





